10mm THICK TOE PLATE
+ 10mm END PLATE +
4No M16(8.8) BOLTS +
10mm WEB STIFFENER

\
10mm THICK TOE 10mm THICK TOE PLATE I\A
PLATE + 10mm END + 10mm END PLATE + oy
PLATE + 4No M16(8.8) 4No M16(8.8)+ 10mm o
152x89UB16
STIFFENER X 406x178UB67 ©
Q G
152x89UB16 o s/
2z 15mm THICK END 406x178UB67 & |’
=35 | PLATES FOR -
n
T = O RAFTERS + 8No 10mm END PLATE
178x102UB19 o we M20(8.8) BOLTS . + 10mm THICK 203x203UC46
10mm THICK TOE 2 FACE PLATE +
PLATE + 10mm END @ 4No M16(8.8) ~
PLATE + 4No M16(8.8) s P T BOLTS =
g_ﬂ:;lT:SEJE:qomm WEB W / 10mm THICK END PLATE = ‘l |
6 T\ + 4No M16(8.8) BOLTS. !
I 3\_)CA \]ESB
320° N G EN |
| 5 Dens™ ~>
? 4 GE ] = ] ] y/’
o cp\ N 10mm THICK BEARING N
4 @ " T s Typical Apex Detail Grid Lines 3 o
\l\/ 5 2z BOLTS. (Scale :- @ A1) =SS
|_
52 g g 305x165UB46
nis) §
3%203\)@6 \
0
z 10mm THICK BEARING
178x102UB19 10mm THICK END PLATE PLATE + 4No M16(8.8) 100510 ELAT
+ 4No M16(8.8) BOLTS. BOLTS. / BRACING
10mm THICK BEARING
PLATE + 4No M16(8. . . . . .
PLATE + 4o M16(6.) w Typical Rafter Connection Detail Grid Lines A3
- “ (Scale :- @ A1)
1 / ‘ Z
Typical Connection Detail Grid Lines 4 ) /
(Scale - @ A1)
\4 g
/H .
4 S J/UV'- — | [_—T]]
— | /
& / <2
_— —
— ‘ = \
o ==
i \,\//\ [T |
S
406x178UB54
10mm THICK END PLATE + Structural lllustration 20mm END PLATE +
4No M20 BOLTS. (Scale - @ A1) 8No M20(8.8) BOLTS
203x203UC46 \Tvggg P
% 178x102UB19 10mm END PLATE +
254x146UB43 Jomm TOE PLATE + 4No M20(8.8) BOLTS
HIP BEAM TO EAVES BEAMS.
305x165UB46 10mm THICK END
PLATE + 4No M16(8.8) [ 406x178UB54
BOLTS + 10mm THICK 305x165UB46
2 SETS OF 10mm THICK WEB WEB STIFFENER.
STIFFENERS WELDED WITH 6mm
FILLET WELD. / 254x146UB43 @
®
/ _
/ \
5 6mm BUTT ®
9 WELD AT o I @ | o
305x165UB46 CRANK P
) h
305x165UB46 / .,‘,r
0
n
t 1> 100x10 FLAT
77 .
15mm THICK CAP PLATE + 15mm L- 100x10 FLAT o BRACING
PROFILE BEARING PLATE + 10No BRACING
M16 (8.8) BOLTS. L >
=
il
J ! 10mm TOE PLATE +
~ | > 10mm THICK END
= PLATE + 4No M16(8.8)
BOLTS + 10mm THICK
- WEB STIFFENER.
ALL BARICING TO WE 203x203UC46
BOLTED TO 10mm THICK
GUSSET PLATES + 2No
M16(8.8) BOLTS. 254x146UB43

-

Typical Hip Beam Connection

(Scale :- @ A1)

203x203UC52

CUT * REPLACE EXISTING PURLINS TO
ACCOMODATE NEW STEELS BEAMS.

%

T O
%

O

178x102UB19

10mm THICK TOE
PLATE 10mm
THICK END PLATE
+ 4No M16(8.8)

203x102UB23

Typical Rafter Connection Grid Lines B1

(Scale :- @ A1)

406x178UB67

10mm TOE PLATE +
10mm THICK END
PLATE + 4No M16(8.8)
BOLTS + 10mm THICK
WEB STIFFENER.

10mm TOE PLATE +
10mm THICK END
PLATE + 4No M16(8.8)
BOLTS + 10mm THICK
WEB STIFFENER.

Typical Rafter Roof Apex Connection.
(Scale :- @ A1)

406x178UB67 /

— -

178x102UB19

20mm END
PLATE + 8No
M20(8.8) BOLTS
+ 8mm FILLET
WELDS.

l

©
S
O
]
[}
=
q

X
[0}
o
3

Typical Rafter Connection Detail Grid Lines A2

(Scale - @ A1)

NOTES
©
THIS DRAWING & DESIGN IS THE COPYRIGHT OF

ALAN BAXTER PARTNERSHIP AND MUST NOT BE
COPIED IN PART OR WHOLE WITHOUT CONSENT.

1. DO NOT SCALE OFF THIS DRAWING.

2. TO BE READ IN CONJUNCTION WITH ALL ARCHITECT'S AND
ENGINEERS DRAWINGS.

3. ALL DIMENSIONS AND LEVELS TO BE CONFIRMED BY THE
ARCHITECT AND CONTRACTOR PRIOR TO THE
COMMENCEMENT OF THE WORKS.

4. ALL DISCREPANCIES TO BE NOTIFIED IMMEDIATELY TO
CONTRACT ADMINISTRATOR AND ENGINEERS.

5. TENDER OR BILLING DRAWINGS SHALL NOT BE USED FOR
CONSTRUCTION OR THE ORDERING OF MATERIALS.

6. FOUNDATION FORMATION LEVELS TO BE INSPECTED AND
APPROVED BY THE LOCAL AUTHORITY.

PRELIMINARY

A GENERAL UPDATE TIM 04-02-2019
0 FIRST ISSUE TIM 04-05-2018
Rev | Description Drn | Chk Date

ALAN BAXTER PARTNERSHIP.r

CONSULTING STRUCTURAL ENGINEERS
THE CLOCK BUILDING
PYMPES COURT
BUSBRIDGE ROAD
LOOSE
MAIDSTONE
KeEnNT ME15 0HZ

TELEPHONE: 01622 744263
FAX: 01622 749270
EMAIL: mail@abpengineers.co.uk

ABP

Project

Leybourne Village Hall,
Little Market Row, West
Malling ME19 5QL

Drawing

Frame lllustration

Date  05/01/18 Scale

@ A1

Ref Rev

F437 -A1- 02




	Sheets
	02 - Frame Illustration


